10.00”

D=

N
DNO. 6
GH=319, 32
FH=319, 63
4.00
3.00 0.9
_J. 2 —
' i
LEVEL .
T (=)
e \ o g
(=] o ==
= - =l 3 o
6= 8.2 \ Lré* 5
B2= 0.6 = i \t;
s = 0.80 A
= 0.5 :
B= 0.2
Li= 7.8 DL=315. 00 0= 2.2
E= 0.4
B= 0.1
EiRFEHHA = 0.02
WAt = 0.4
DNO. 5+10. 00
S GH=317. 28
Ho FH=318. 03
K“Ia
N | 4. 00 |
ey 0. 50 3.00 0. 50
.20
f
U' LEVEL = r
& N g
J \ o | T 8
1= - el 2 o
2= 0.6 \ "
BZ: - e h’x\% e
B3= 3.0 .
= 5 0. 80 S
B= -
Li= 3.7 2= 1.3
E= 0.4
B= 0.1
KIKIEHHA = 0.1
Wil = 0.5

DL=310. 00

D=20. 00

Cl=
(2=
B2=
B3=
E =
B' =
L1=

3.2
12.5

0.4
0.2
9.9

DNO. 8
(GH=327. 39
FH=326. 03
4. 00
§50 300 0.8
. LEQEL
L
B3= - DL=325. 00
= 0.4
B= 0.2
L1= 8.8
DNO. 7
(GH=323. 45
FH=322. 83
4.00
0. 50 3.00
_ |
& LEYEL
L | 7
v

.

Cl:Fd—"7 L 4mMl

C2: Fy ¥nim Al
B1:RRERME T

B2: g {kEEL (2. 5=B<4.0)
B3: &A@+ (4. 0=B)

E ERYM
B 1R
L1:¥ ik
L2: @t ikm

.

e
\\
\\\‘\
X
‘\\\H
\‘\.
\\\\1
(LFERER)

NO.5+10.00 - NO.8
FEA| IFRBREIBAM

g

\\\§m15<1$mm%)

B & W E E (4/7)
B LR

M R 1:100 | ¥ {iI M
m 2| £ 10 ®how 7

FrE 28 FEEMT R R
(/) REREBEREMNEY 7 —




